ENICRll

1. 3 AT T THR0!
e 1.1

2. (1)(2,4) (2) (3,1) (3)(6,1) (4)(5,2)
(5)(-1,1)  (6)(1,3) (7)(3,2) (8)(7,3)
TaEd 1.2
1. (1) (2)
X 3 -2 0 X 4 -1 0
y 0 5 3 y 0 -5 -4
X, ¥) | (3,0) | (-2,5)] (0, 3) X,Y) | (4,0) | (-1,=5) | (0,-4)
2. (1)(s, 1) (2) (4,1) (3)(3,-3) (4)(-1,-5) (5)(1,2.5) (6)(8,4)
TaEd 1.3
3 2
1. ‘4 5‘:3><5—2><4:15—8:7

2. (1)-18 (2)21 (3)—§

3. (H@,-1) @2)-2,4 3)@3E,-2) @(@,6) (56,5 (6) (g, i)

e 1.4
1
L ()G, 1) (2)(3,2) (3)(3,—2) (4) (1, 1)
wEEd 1.5
1. oI H&I1 5 3 2 2.X=12,Y = 8 &%es = 640 . Teheh, TR = 112 Teheh
3. gar™ad 15 9y, afsar a7 40 98 4.%
5. A=30fRH,B=55fR0 6. 150 foprft.
GehIUT T9EIE 1
1. (1)B(2)AB)D4)C(5) A
2.
3
X -5 =
13
y 3 0

Y| (-5, -] (5,0

upapapapapapapapapapapapapap: S S B S U S U DS S S S0




3. (1)(3,2) (2) (-2, -1) (3) (0, 5) (4) (2, 4) (5) (3, 1)
4. (1)22(2)-1(3)13
> 1o 7 116
5. (1) (-g, 2) (2)(1,4) (3) (5, -3)  (4) (ﬁ, » ) (5)(2,6)
6. (1) (6, -4) (2)(‘£f,‘1) (3)(1,2) (4) (1, 1) (5) (2, 1)
7. (2) =@ e T300 Ui T (5) A HIETRET TSR 450 &.
qrgi=n et T 40 9fd fo. 3THITE TR TSR 270 &.
(3) 100 =31 A= T4 20 (6) &= = 50 Tt /amm
50 =1 A= JE& 1T 10 SrEhET AT 40 femrft /am
(4) TS 37TST 9 23 99
gfodre 37T 99 8 99
2. TEHIERO
TaEd 2.1

1. M+5m+3=0, Yy -

3 =0 (IR ST

2. (1),(2), (4), (5) & siwiw 37Ted.
3. (1)y*+2y-10=0, a=1,b=2,c=-10

(2)X*-4X -2 =0,

(3)X*+4X+3=0,

a=1,b=-4,c=-2
a=1,b=4,¢c=3

(A)ym*+0om+9=0,a=1,b=0,Cc=9
(S)6p*+3p+s5=0,a=6,b=3,Cc=5
(6) X* +0X -22=0, a_1,b 0, C=-22

4. (1)1 3R, -1 M.
5. k=3
1.(1)9, 6 (2) -5, 4
1 1 o)
(5) 5,3 M)gwg
(9) 25, -1 (10) -7,

an% 2 ATl
6k:—
TEEd 2.2
1 3
(3) -13, 7S (4) 5, 3 55
3 \/—, -2 (8)\/—,\/—
3 (11)0,3 (12) -\11, V11

=papapapapapapapapapapapapaps 170 K EEEECC



e« 2.3

JI345 —13+5

1. (1) 4,-5 (@) (V6-1), (-6-1) (3) Y343 0
(Y2 e, S () 212 2

e 2.4

1. (1)1,-7,5(2)2,-5,5(3)1,-7,0
3+\/ﬁ 3—\/ﬁ —1++/22 —1-22

2 2 B T3 T3

24414 2-+14 (5) —1+6\/§, —1—6\/5 (6)_1,_2

2. (1)-1,-5(2)

(4) ——» "
3. -+3,-3
TTEH 2.5
1. (1) 5 THaMT Geb o= aTEqe 98 31Ted., -5 AT §e3 Iead T&T AT8H.

3
(2)X*+7X+5=0 (3)a+B=2’aXB=‘§
2. (1)53(2)-55(3)0

3. (1) Jr&d9 9 gqM . (2) 9T&dd 9 TEHM. (3) aTEqe &A1 ATEId.
4. (1)X*-4Xx=0 (2)X*+7X-30=0
1
(3)X2_Z= (4)X*-4X-1=0

5. k=3 6.(1) 18 (2) 50
7. (Dk=12fka1k=-12(2)k =6

TaEd 2.6
1. 9a% 2.109 12 3. 3XTTAIG 10 9 TS W 15.
4. T o= 99 10 99 9 foaeera 219 99 15 98
5. 107 6. VTS TE&AT 6 9 Tcdeh WIeaTe (A a1 100 T,
7. 6 TeRHt/amE 8. Tmen 6 feaw 7 figam 12 feam.
9, Wk = 9, UMK = 51 10. AB = 738}, CD = 15 @i, AD = BC = 5 4.

Ghut T9TEIE 2
1. (1)B(2)AB)C4)B(5)B((6)D(7)C(8)C
2. (1) 9 (3) Friedietol 31ed.

=papapapapapapapapapapapapaps SO D R



3. (1)-15(2)1(3)21

4. k=3 5.(1)X*-100=0(2)X*-2X -44=0(3)X*-7X=0
6. (1)Iqa g&ATTEE.  (2) 9rdd 9 TEHM. (3) aTEqe 9 gHH.
oy L R G Ly, -

(4) _SZ\E, S5-V5 (5) Heb arad e e, (6) (2 + V7)), (2-7)

8. M=14 9.x2 SX+6=0 10.X>-4pgx - (p*-0*)*=0
11. AWRSEe 100 93 9 gohesiaes 150 T,

12. 12 ewfury24 fehar 12 mfor - /24 13. Targemeat=ht v 60
14. &d 45 1. @7l 100 Y, Sradesar 991 15 H.

15. AT TSHEE! 3 a8 A8 Te3TETd! 6 amd.

3. TSRO St
WEEd 3.1

Lohad=2  @smd=; (emd=4 ()7
(5)3:“%7(:1:_4 (6)3:"%7d20 (7)";’:|-|%7d:\/E (8)3:”%7d:5

2. (1) 10, 15,20, 25, . .. (2) -3, -3,-3,-3,... (3)-7,-6.5, -6, -5.5, ..
(4) -1.25,1.75,4.75,7.75, . . .(5)6,3,0, -3 . .. (6) -19, -23, -27, -31
1 1
3. ()a=5,d=-4 (2)a=0.6,d=0.3 (3)a=127,d=8(4)a= Z’d= 5
EEs 3.2
1. (1)d=7 2)d=3 3)a=-3,d=-5 (4)a=70,d=-10
2. IR 121 3. 104 4. 115 5.-121 6. 180
7. 55 8.554d 9. 60 10. 1
aE« 3.3
. 1215 2.15252  3.30450 5. 5040
5. 2380 6. 60 7.4,9, 14 Tpar 14, 9, 4 8.-3,1,5,9
aEd 3.4
1. 70455%03 2. Ut g 1000 93, Jeed gl 560 T3, 3.1,92,000 393
4. 48,1242 5. -20°, -25°,-30°,-35°,-40°,-45° 6. 325
HehIul I9TENE 3
1. (HDB@2)CBYBMDGB)B6)C(7)C(8)A(9)A(10)B
2. 40 3.1,6,11,... 4.-195 5.16, -21 6. -1 7.6, 10
8. 8 9.67, 69, 71 10.3, 7, 11, ..... 147. 14. 2000 &93,

=papapapapapapapapapapapapady 17) KA EEEEEEEC



»

1.
2. Y foe 28,800 %. HSwES 3150 . THSITEST 3150 ®.

4. st

e 4.1
CGST 6%, SGST 6% 2. SGST 9%, GST 18%
CGSTRX 7849 SGSTX 784
I e TTEehTelT 691.48 FTAMT fHeda.
WosUATd Il S shiars fehra T 1500 et CGST ¥ 135 SGST 135
(1) SGST =M< 14% (2) wHIaad GST =&t 28%
(3) TE=H s fRua 40,000 . (4) GST =t Tt ek 11,200 %.
(5) CGST 5600 =. (6) SGST 5600 %.
THIeAl o o WefH 48,640 w1 fHesd 9 fewmer CGST 5320 %

SGST 5320 =.

TEEd 4.2
AT LISFHAT 22,000 . T SATHS 3TTR.
T AT 12,500 = $TE o shise firedar. e < Sfiwgdt T 2250.
ST TreTTSee & SUES! 300 %. AT Shgel < L 150 &, o TIT= ¢ L 150 &.
TR STCEET ¢ SHTES 400 %. AT shgr ¢ L 200 &. T TATET ¢ L 200°%.
o SfwEdt % 100, CGST % 50, UTGST R 50. 5. CGST = SGST =% 900

aEd 4.3
(1) STSRATE 100 ¥9¥ (2) @il fohmd 75 &9 (3) 1aved 5 &9,
25% 3. 37,040 39 4. 800 31"
AT X 5.83% 6. U A TefTe TaaUh BRICR 37Tz,

A 4.4

200.60 T

2. 999 77

ST
TSRS

ST
&

QTE=
Torma

TATATET
W0.2%

TATATR
CGST 9%

TATAT
SGST 9%

ST TR
fehmra

100 B| 45

%4500

X9

X 0.81

X 0.81

% 4510.62

75 S| %200

15000

X 30

X2.70

X2.70

X14964.60

100 21374 forepat.

5. dIeT 8560 T,

TEhIUT TPTEIE 4A
(1)C(2)B(3)D(4)B(5)A(6)B

spapapapapapapapapapapapapaps SO D R




3. T997.50 4. 12,500 5. T 4250 ITCTT R T 250

6. ITCZ 1550 shemm st T 5030, <F THSITEST 5030 T9.

7. T fohAd 3 75,000, g L T 4500, TSI L T 4500

8.(1) 3Th SATITT=AT e STehTd HISTEN 16200 T ; THSITEST 16200 9.
feRtenTes STAT=IT=AT ShisfsrehTa HSUddt 19,800 9 ; TESITAS 19,800 .

(2) 3T =ATIRY: g L (CGST) 2700 9 (SGST) 2700,

fertentes =MaRY: @ X (CGST) 3600 9 (SGST) 3600

9. (1) 3TUT YeaTHI fecie shieistentd HiSHTE T 1960, THSTES T 1960
(2) THETAT AT UTEHTE STTeherel] HSATH T 2352  THSuHd T 2352
(3) IHSTAT A=A < HISTHST T 392 F ¢ UEHSUE T 392

10.
| 2 disfiued (3) | S wEsiwEd ) | 3 SwmdR)
3IcITEH 300 300 600
forawer 360-300 =60 60 120
Rl = | 390-360 = 30 30 60
TR L 390 390 780
(2) 37dq: TTgehtd df T&q_ 7280 =M1 He3d.
(3) Icuresh o faraies B2B, fordtes q fertenies samarl B2B, feenles =  urgsh B2C
FehIvl U9TETE 4B
1. (1)B (2)B  (3)A (4) C (5) A
2. T130.39 3.22.2% 4. 21,000 &3 firadia.
5. 500 23T¢ Tiresdiat. 6. TR 1058.52 *9 7. Ol B ShIUT 9T ST,
8. 1000 9319 fiesdid. 9. 118 T
10. (1) 1,20,000 39 (2) 360 39 (3) 64.80 T (4) 120424.80 TH.
11. 1% 5%
5. AUl
WEEd 5.1
1. (1)8(2)7(3)52(4) 11
e 5.2
1. (1)S={1H, 1T, 2H, 2T, 3H, 3T, 4H, 4T, 5H, 5T, 6H, 6T}  n(S) = 12

=papapapapapapapapapapapapad 174 KGO




(2) S =123, 25, 32, 35, 52, 53} n(S) =6
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